- 16"
- 12"

e 8"

i
1 Zz\ -

%

%

11/4"

Multi-Purpose Panel (MPN)

L 16"

12"

%

%

Multi-Purpose Panel (MPV)

- 16"

ﬁ 5 1/4"ﬂ
[ \

o 2||—>
%

%

Ly S
11/4"
Multi-Purpose Panel (MPH)
12"
%9 1/4"4ﬂ
4/ o
11/4"

Multi-Purpose Panel (MPH)

16"
12"

e
[\

B S S S
11/4"
Multi-Purpose Panel (MPW)
16"
N S S
11/4"
Multi-Purpose Panel (MPV)
16"
12" -
%7 1/4"ﬂ
Y o o
11/4"
Multi-Purpose Panel (MPH)
o ATAS INTERNATIONAL, INC
e
\\\ Mesa AZ
A 480-558-7210
"™ MultiPurposePanel Detail
DWG. NO. DR KRK DATE7/29/2016
T\‘EOV DATE DESCRIPTION OF REVISION BY | APP T SH. SIze B SCALE X:X




Greater than 12'-0" Panel Lengths -

Pin Panel in Center (x3)

Field Pre-Punch Fastener Slots to allow
for Panel Expansion and Contraction.

5/8" 1/8"
/ \ I

ATAS INTERNATIONAL, INC
Allentown PA

N\ / Fastener Slot ﬁ
©

610-395-8445

. : Mesa AZ
Secure Fastener in Center of the Slot 480-528.7210

DETAIL A L

"™Multi-Purpose Fastener Slots Detail

DWG. NO. DR DATE,
DMR 5/13/2021

APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP A X_ X




/#10 x 1" Wafer Head Screw

MultiPurpose Panel

<RV LAY

Pre-Drilled Fastener Hole (by others)
F

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

\ - Mesa AZ

Y 480-558-7210

"MultiPurpose Panel Installation Detail

DWG. NO. DR DATE

Pre-Drill Fastener Holes for Panels Greater than 20'-0" in Length DMR | 10/18/2016

APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Vertical Panel

N

~N N

~ -~ ~

/

/\

N

/\

AP AN

/\

P

AN

AN

N

AR

MultiPurposePanel Panel

Water and Air Resistive Barrier

1/2" Plywood (min.)

Insulation

Interior Finish

Membrane Strip Over Base Trim

#10 x 1" Wafer Head Screw

Base Trim

3"

R

1/2"

11/2"

%%/& 1/2"

MPAG661 - Base Trim

Allentown PA
610-395-8445

ATAS INTERNATIONAL, INC

REV.

NO. DATE

DESCRIPTION OF REVISION

BY

APP

- Mesa AZ
A \ 480-558-7210
TITLE . .
MultiPurposePanel Base Detail
DWG. NO. DR MBP DATE7/12/2016
MATERIAL AP DAS DATE 7/29/16
SH. SIZE B SCALE X:X




Vertical Panel

Low Point

High Point

A\

A

MultiPurposePanel Panel
Painted Pop Rivet (24" 0.C. Max.)

Support Z

N N N N N N N N N
ll | ll | ll | ll | ll

A A A

/ \ / \ / \
/ \/ \

x |
NP A YA / N

A

A A A A

| ( [ ( [
AP ANN AL

\

f%%g

7
Insulation/

Water and Air Resistive Ba

Membrane Strip Over J Channel and Angle Trim

rrier

ﬁ :
1/2" Plywood (mn)//

MultiPurposePanel Panel

Interior Finish

Painted Pop Rivet (24"

/

0.C. Max/
Angle Trim

k 15/8" =

x| !

11/4"

L
MPA680 - Angle Trim

-

T
11/4"

o
e

~13/4"

13/8"

1/4" C.H. 4; i
g2 ]

MPA138 - J Channel

MPA681 - Support Z

ATAS INTERNATIONAL, INC

Allentown PA

- \\\ 610-395-8445
"\ ) Mesa AZ

Y 480-558-7210

"™*MultiPurposePanel Endwall Detail
J Channel DWG. NO. DR MBP DATE7/12/2016
Backer Rod and Sealant MATERIAL T Das | 7/29016
T\‘EOV DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Vertical Panel

\

/
\

\

/

\

DA AN A Y

/
\

/ Inside Corner Post

Support Z

Membrane Strip Over Inside Corner Post
Painted Pop Rivet (24" O.C. Max)

#10 x 1" Wafer Head Screw

/ Insulation
V Interior Finish
MultiPurposePanel Panel
) 21/2"
1/2" Plywood (min.)
13/8"—

11/2"

MPA601 - Inside Corner Post

-1
T

11/4"

-1
MPAG681 - Support Z

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

MultiPurposePanel Inside Corner Detail

DWG. NO. DR DATE
MBP 7/12/2016

APP DATE 7/29/16

REV.

NO. DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL DAS

SH. SIZE B SCALE X_X




Vertical Panel

N, NS N ~ 7 ~/
[ | | | |

Water and Air Resistive Barrier
/ 1/2" Plywood (min.)
/Interior Finish

/ Insulation

MultiPurposePanel Panel

? Support Z
/S.S. Painted Pop Rivet (24" O.C. Max.)
ﬂ / Membrane Strip Over Outside Corner Post

#10 x 1" Wafer Head Screw

Outside Corner Post

SN N\ 4 4 T
- &= 3= 1"
7777777777777777777777777777777777777777777777 = s - oo ) Y

%@
4

MultiPurposePanel Panel /

Support Z
S.S. Painted Pop Rivet (24" O.C. Max.)

y i
114" =,

e

% 21/2"— =

4"

13/8"

R

11/2" ] *

MPAG681 - Support Z

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

iUftiPurposePanel Outside Corner Detai

REV.

NO. DATE

DESCRIPTION OF REVISION

BY

APP

DWG. NO. DR DATE
MBP 7/13/2016
APP DATE
MATERIAL DAS 7/29/16
SH. SIZE B SCRE .y




Vertical Panel

Coping System (Rapid-Lok Coping System)

J Closure

Wood Nailer
#10 x 1" Wafer Head Screw

N\

=
g g
7 G- = Interior Finish
— I MultiPurposePanel Panel

- M

|

Water and Air Resistive Barrier

/
/

/

/

\ /
\ /
\ /
\ /
\ /
|

\
%N

_ \| 11
— I

1/2" Plywood (min.)

-
T [l

1
— Mo
[l
[l
[l

JI\

N

X

S

N

7
|

| T S Insulation

- N 13/8"
// \ T R:i// H

N 13/4" 1
e Lo
\ N\l

_ I
— I

/
/
/
/
/
/

MPA270 - J Closure

/

\
\
\
\
\ /
\ /
\ /
\\ “/
\
AN

~—

~ i
T~ ~

— I

I

[

|
|
|
|
|
|
|
1
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(NN
|
|
|
|
)
|
|
|
|
|
|
|
|
[
N
|
|
|
|

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

\ - Mesa AZ

\> 480-558-7210

"MultiPurposePanel Top of Wall Detail

DWG. NO. DR DATE
MBP 7/13/2016
APP DATE
MATERIAL DAS 7/29/16

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X_ X




Vertical Panel

f

f

~Y Y Y

I]

I]

‘ \ / A : A\
N/ /o /A
\ o/ /o /
\/ / \ /

| | | |

|

A A N AN A NYAN

Note: * denotes color side.

Insulation

Membrane Strip

#10 x 1" Wafer Head Screw
Plywood Substrate

Water and Air Resistive Barrier

Ring Shank Nail

Multi Purpose Panel

Base Trim

Window

11/2"

1/2"

K

T %7/&

1/2"

MPAG661 - Base Trim

ATAS INTERNATIONAL, INC

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

TITLE
MultiPurposePanel Head Window Flange Detail
DWG. NO. DR DATE
MBP 7/30/2018
APP DATE
MATERIAL
SH. SIZE B SCALE X_X




Vertical Panel

/*\/ \/ ~ \/ \/ \/ \/ \/ ~7
I ‘ |

/\ /\ /\ /\ /\ /\ /\

\/ AR /o AN
Y V V V V \ooN/ |

High Point

\ Window

- ——Backer Rod and Sealant

C /77 7

S.S. Painted Pop Rivet
24" 0.C.

Low Point

Multi Purpose Panel
(Low Point of Panel)

Note: * denotes color side.

Angle Trim
Ring Shank Nail

J Channel
#10 x 1" Wafer Head Screw

Support Z

S.S. Painted Pop Rivet 24" 0.C.
Multi Purpose Panel

Water and Air Resistive Barrier

Plywood Substrate

Insulation
k 13/4"+]
- I
ﬁ 1/4" ﬁ:% 1 1{4
11/4" 7/8" *

J MPA138 - J Channel
o

T1 5/8" -~

* %

11/4"

1
MPA680 - Angle Trim

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

mﬁulti Purpose Panel Jamb Window Flange Detail

MPA681 - Support Z

DWG. NO. DR DATE
MBP 7/31/2018

APP DATE

T\‘EOV DATE DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE X_X




Vertical Panel

~ N N N N N N N

I

/\

I

A

I

I

/‘\

I

A

I

/‘\

I

/

A

A

Note: * denotes color side.

\ / \ / \ /

/

I

\/
- ANy 4

\/

/‘I‘\

R
\

I

Y

\

Y

N\

AN

\

N\

Y

N\

AN

v

N

/

_

\Window

/ Backer Rod and Sealant
- Ring Shank Nail

#10 x 1" Wafer Head Screw
/

Water and Air Resistive Barrier

Multi Purpose Panel
/Insulatior[l)
/

Plywood Substrate
/ y

~—T1 1/4"

I

15/8"

a

MPA680 - Angle Trim

*x

15/16"

7/8"

|

13/4"

4

R

i I

1/4" C.H.

MPA134 - J Channel

ATAS INTERNATIONAL, INC

X Allentown PA
N 610-395-8445
\\ Mesa AZ

A 480-558-7210
TLE . " . .
Ml Purpose Panel Window Sill Flange Detail
DWG. NO. DR MBP DATE7/31/2018

APP DATE

REV.

NO. DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE

X:X




Vertical Panel

Note: * denotes color side.

ol
~af, Yl
A

Membrane Strip
% Interior Finish
Water and Air Resistive Barrier

MultiPurposePanel Panel

1/2" Plywood (min.)

Head Trim

AN

Backer Rod and Sealant

S.S. Painted Pop Rivet (24" 0.C. Max.)
Window

11/2"
3/4"
N
-1
3/4"
Z Closure

11/2"

-

3"

l T 920
\

+

|

2ll

i

1/2" O.H.

MPAS550 - Head Trim

ATAS INTERNATIONAL, INC

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

"™MPP Existing Window Head Detail

DWG. NO. DR DATE
MBP 7/19/18
APP DATE
MATERIAL
REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Vertical Panel
\
\
\
A | ,
- - - - --”---—-—Z—Z-—Z-—Z-Z-Z- T -3 % ’/ ) - . / )
;::::::::::::::::::: :::::::::::::::j e ———— j /
4
Interior Finish
1/2" Plywood (min.)
MultiPurposePanel Panel
Water and Air Resistive Barrier
Membrane Strip
S.S. Painted Pop Rivet (24" 0.C. Max.) F 13/4 4
Angle Trim
Backer Rod and Sealant "C.H. —= 13/8"
¥ Channel - 15/8" ] L4'CH.—= =
Window I Yy
* n
11/4 7/8"
MPA138 - J Channel
MPA680 - Angle Trim
F 1" ]
l i
11/4"
- S } }/ YAy "1",1
8~ MPA681 - Support Z
ATAS INTERNATIONAL, INC
T NN Allentown PA
— 610-395-8445
MultiPurposePanel Panel j / \ \\  ssoseemato
Support Z "™MPP Jamb Existing Window Detail
S.S. Painted Pop Rivet (24" 0.C. Max) pwe.o. " wee |7 7/19/18
NOte: * denOtes COIor SIde' T\IE(;I DATE DESCRIPTION OF REVISION BY | APP - SH. SIZE B SCALE X:X




Vertical Panel

/ e

: Backer Rod and Sealant
il J Closure
(4|
#10 x 1" Wafer Head Screw
- o KD T
/ Water and Air Resistive Barrier
- = MultiPurposePanel Panel

/ Interior Finish T
‘ L X
r /Insu|ati0n 13/4" T S
11/4"
/ / l 1/4" C.H.

1/2" Plywood (min.) "

15/8"
MPA138 - J Channel
a

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

MPA280 - Angle Trim

TITLE,

DWG. NO. DR MBP DATE 7/20/18

APP DATE

MATERIAL

Note: * denotes color side. RV,

SH. SIZE SCALE .
No. B X:X

DATE DESCRIPTION OF REVISION BY | APP




Vertical Panel

AN

A\

\@“

A

Insulation
Membrane Strip Over Head Trim

Interior Finish

Water and Air Resistive Barrier

MultiPurposePanel Panel

1/2" Plywood (min.)

Head Trim

Head Angle Trim
Backer Rod and Sealant

Painted Pop Rivet (24" 0.C. Max.)
Window

11/2"

3"

2ll

=i

1/2" O.H.

MPAS550 - Head Trim

T 1/2"W.H.

YL T

Allentown PA
610-395-8445

ATAS INTERNATIONAL, INC

REV.

NO DATE DESCRIPTION OF REVISION

BY

APP

\ * Mesa AZ
8| \ 480-558-7210
TITLE . .
MultiPurposePanel Head Detail
DWG. NO. DR MBP DATE7/12/2016
MATERIAL " pas M 7/29/16

SH. SIZE B SCALE

X:X




Vertical Panel

Interior Finish A
1/2" Plywood (min.)

MultiPurposePanel Panel
) Insulation,
Water and Air Resistive Barrier

Angle Trim With Return

Membrane Strip Over J Channel and Angle Trim
Painted Pop Rivet (24" 0.C. Max.)
Angle Trim

Backer Rod and Sealant 13/8"
J Channel Fl 5/8" 1/4"C.H. % -
Window ﬂ i e a— i

14 718"
1+ MPA138 - ] Channel
\ 1/2" W.H.

| P MPA680 - Angle Trim

| K Y -1
T
11/4"

/ﬁ | 1 31/2" %

@ % PATLIITL: T
— MPA681 - Support Z

1 3/4" ]

X
3"
‘ ATAS INTERNATIONAL, INC
MPA683 - Angle Trim With Return N\
. \\% Mesa AZ
MultiPurposePanel Panel LA 480-558-7210
Support Z "™ MultiPurposePanel Jamb Detail
. . DWG. NO. DR DATE
Painted Pop Rivet (24" 0.C. Max)  Mep | 7/12/2016
MATERIAL DAS 7/29/16
T\]E(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




Vertical Panel

Window
/ Backer Rod and Sealant
Window Sill Trim

J Closure

N

#10 x 1" Wafer Head Screw
I

Water and Air Resistive Barrier
| / Insulation
|
J MultiPurposePanel Panel
X 13/8"
Interior Finish />\ 3 3/4" 13/8"

1/2" W.H.
/ T 1 j/4" —+
1/2" Plywood (min.) L o L 7/8
/ Ti MPA270 - J Closure

1/2"0.H.

\

.
*

-

ATAS INTERNATIONAL, INC

MPA670 - Window Sill Trim

| \ Allentown PA
NN 610-395-8445
‘ \\ Mesa AZ
‘ )W 480-558-7210
TI . . N .
MultiPurposePanel Window Sill Detail
DWG. NO. DR MBP DATE7/13/2016
TERTAL APP DAS DATE 7/29/16

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X






